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QUESTION 1

Examine the two static routes shown in the exhibit, then answer the following question.

4 CreateNew | #' Edit [ Clone [l Delete
Destination Gateway Interface Priority Distance
172.20.168.0/24 172251 =port1 10 20
76.1
172.20.168.0/24 172251 = port2 20 20
78.1

Which of the following is the expected FortiGate behavior regarding these two routes to the same destination?
A. FortiGate will load balance all traffic across both routes.

B. FortiGate will use the portl route as the primary candidate.

C. FortiGate will route twice as much traffic to the port2 route

D. FortiGate will only actuate the portl route in the routing table

Correct Answer: B

"If multiple static routes have the same distance, they are all active; however, only the one with the lowest priority is
considered the best path."

QUESTION 2

NGFW mode allows policy-based configuration for most inspection rules. Which security profile\\'s configuration does
not change when you enable policy-based inspection?

A. Web filtering

B. Antivirus

C. Web proxy

D. Application control

Correct Answer: B

QUESTION 3
Which of the following SD-WAN load ?alancing method use interface weight value to distribute traffic? (Choose two.)
A. Source IP

B. Spillover
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C. Volume

D. Session
Correct Answer: CD

https://docs.fortinet.com/document/fortigate/6.0.0/handbook/49719/configuring-sd-wan-load-balancing

QUESTION 4

Which three security features require the intrusion prevention system (IPS) engine to function? (Choose three.)
A. Web filter in flow-based inspection

B. Antivirus in flow-based inspection

C. DNS filter

D. Web application firewall

E. Application control

Correct Answer:. ABE

QUESTION 5

Which two configuration settings are synchronized when FortiGate devices are in an active-active HA cluster? (Choose
two.)

A. FortiGuard web filter cache
B. FortiGate hostname
C.NTP

D. DNS

Correct Answer: CD
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